ALL KERALA BHAVAN’S SCHOLARSHIP EXAMINATION, NOVEMBER 2023

Class: IX Marks:100

Date: 28.11.2623 Time: 1% hrs
GENERAL INSTRUCTIONS:

Read the instructions carefully before answering
1. Please fill up your Roll No. and class in the box provided on the OMR sheet.

5. This question booklet contains 50 questions and 5 Tie Breaker questions. All questions

H @

6.
7.
8.

including ‘Tie Breaker Questions’ are mandatory. Tie Breaker questions will be evaluated
only in case of a Tie.

. Each question carries 2 marks.
. Each question has 4 answer choices a,b,c,d. :
. For each question, select the best/correct option and darken the bubble completely

against the corresponding question in the OMR sheet provided.
Use a blue/black ball point pen to darken the bubble.
Darken only one bubble against each question.
There will be no negative marking.

Choose the correct answer from the options given.

1z

After being enemies for a decade, they have now decided to bury the hatchet. The underlined
idiom means:

a. to embrace each other b. to work together

c. to continue fighting d. to make peace

Look at the hint given below and complete the sentence that follows choosing the correct option
from the choice given.

Sudha Murthy - social worker - accomplished author

Sudha Murthy author.

a. is not only an social worker but also a accomplished

b. are both a social worker and an accomplished

c. is a social worker and an accomplished

d. has been a social worker and a accomplished

Select the word which means the same as the group of words given.

One who can use both hands with equal ease.

a. Ambidextrous b. Quixotic c. Virtuoso d. Dexterous

Select the correct passive form of the given sentence. They are making elaborate arrangements
for the party.

a. Elaborate arrangements have been made for the party.

b. Elaborate arrangements are made for the party.

c. Elaborate arrangements are being made for the party.

d. Elaborate arrangements were being made for the party.

Select the correct indirect form of the given sentence. She said to me, “Have you ever flown a
kite?”

a. She asked me if you have ever flown a kite. b. She asked me that had I ever flown a kite.

c. She asked me if I had ever flown a Kkite. d. She asked me if I ever flew a kite.

Choose the correct figure of speech in the following sentence: ‘The wind lies asleep in the arms
of dawn.’

a. Metaphor b. Hyperbole c. Personification d. Oxymoron

Select the option that identifies the error and supplies the correction. Stories of dolphins
saving human lives has been told throughout history.
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Option error correction
a. has have
b. lives Life
G been being
d. saving saved

The distance of the point A(-6, 8) from the origin is

a. 6 units b. 8 units c. 14 units d. 10 units
X _
If - s I (¢, y #0), then the value of x>~ s
2l b. -1 c.0 d. 12

Which of the following is equal to x?

a. (x)g - (x); b. 12,,(364)% C(\/p)ﬁ d. (x)lT/2 - (x)%

If each side of a triangle is doubled, then its area is times the area of the original
triangle. =
a a. 5
b. 4
& c.3
d. 2

In the given figure, ABCD is a square such that AE = DE. Find BEC.

a. 28° b. 56° cH622 d. 24°

The value of V45-3vV20+445 is

a. 3V5 b. 2V5 c.\5 d. V10

The ordinate of a point on the line x + y =6 is two times its abscissa. The point is
am(i152) b. (2,4) c. (2,1) d. (4,2)

The perimeter of an isosceles triangle 32cm, The ratio of equal sides to its base is 3:2. Then the
area of the triangle is ,

a2 b. 102 c. 16V2 d. 32v2
If 2x+y = 8 and xy= 6, the value of 4x2+y2is
a. 40 b. 24 c. 44 d.20
A body is thrown vertically upward with velocity u, the greatest height h to which it will rise is
u2 u? u u
s = el Co 7
g 29 g 2g

A carpenter exerts a force of magnitude 1.5 N at right angles to the surface of a nail of mass 3
gram to drive it into the wood. If wood offers a resistive force of 0.6 N and the time of interaction
of hammer and the nail 0.01 s, the depth through which the nail penetrates is

a. 15 cm b. 15 m @il :5icm d. 1.5 mm

The distance between two objects has increased 6 times without changing their mass. What is
the new force of attraction between them?

a. 36 times b. 6 times c. 1/6 times d. 1/36 times

The boiling point of water at higher altitude is

a. 373 K b. <373 K CH>E8i8 K 273

The following question consists of two statements, namely, Assertion (A) and Reason (R). Read
both the sentences carefully and choose the correct option:

Assertion (A): The nucleus of all mﬁ PXO and neutrons.
Reason (R): X, 7Y14BeMM e ;
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a. Both assertion (A) and reason (R) are true and reason (R)
(A).

b. Both assertion (A) and reason (R) are true but reason (
assertion (A).

C. Assertion (A) is true but reason (R)
Direction: Each question contains st
Statements (A, B, C, D) in column-I h
Column I

(A) Collenchyma

(B) Sclerenchyma

is the correct explanation of assertion
R) is not the correct explanation of

is false. d. Assertion (A) is false but reason (R) is true.

atements given in two columns which have to be matched.
ave to be matched with statements (P, q, 1, 8) in column II.
Column II

(p) Water transport
(q) Provide buoyancy to aquatic plants
(C) Tracheids (r) Provides flexibility

(D) Aerenchyma (s) Mechanical strength

a. A-r, B-s, C-p, D-g b. A-q, B-r, C-p, D-s C. A-s, B-r, C-p, D-q d. A-r, B-s, C-q, D-p
Two balls of same masses are dropped on sand, the depths of penetration is same if,

a. heavier ball is dropped faster than the lighter ball.

b. lighter ball is dropped faster than heavier ball.

c. the product ‘mv’ is same for both bodies.

d. both the bodies are dropped simultaneously with same velocity.

Two substances A and B were made
reaction 2A + B — A,B

Which of the following statements concerning this reaction are incorrect?
i) The product A,B shows the properties of substances A and B.
ii) The product will always have a fixed composition.

iii) The product so formed cannot be classified as a compound.
iv) The product is an element.

a. 1,ii and iii b. ii,iii and iv C. i,iii and iv

The mass of glucose and mass of water requir.
a. 125g of glucose and 250g of water. b. 62.5g of glucose and 187.5g of water.
c. 105g of glucose and 150g of water. d. 65.5g of glucose and 157g of water.

The following question consists of two statements, namely, Assertion (A) and Reason (R). Read
both the sentences carefully and choose the correct option:

Assertion (A): Efficiency and the technology e
rich /developed.

Reason (R): Countries like J apan have invested in human resources.
a. Both assertion (A) and reason (R) are true and reason (R)
(A).

b. Both assertion (A) and reason (R) are true but reason (R)
assertion (A).

C. Assertion (A) is true but reason (R) is false.
d. Assertion (A) is false but reason (R) is true.
The following question consists of two statements, namely,
both the sentences carefully and choose the correct option:

Assertion (A): Democracy enhances the dignity of citizens.
Reason (R): The poorest
educated in a democrac

a. Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of assertion
(A).

to react and forms a substance A,B according to the following

d. i,ii and iv
ed to make 250g of 25% solution of glucose are:

volved by people have made countries like Japan

is the correct explanation of assertion

is not the correct explanation of

Assertion (A) and Reason (R). Read

and the least educated do not have the same status as the rich and the

b. Both assertion (A) and reason (R) are true but reason (R)
assertion (A).

c. Assertion (A) is true but reason (R) is false.

d. Assertion (A) is false buBeVMREErAM AKKARA

is not the correct explanation of
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The Petrograd Soviet was a union of

a. workers and soldiers b. conservatives
c. farmers and workers d. industrial owners

Hills lie on the western and north-western margins of the peninsular plateau.
a. Mahadeo b. Aravali c. Kaimur d. Maikal

Ramu and Shyamu are victims of a flood. Shyamu, a landlord, was able to survive, whereas
Ramu, a poor farmer, finds it difficult to manage the same situation. Which cause of poverty
does the situation describe?

a. Social exclusion b. Vulnerability c. Helplessness d. Social discrimination
Who appoints the Chief Election Commissioner of India?

a. The Parliament b. The President of India c. The Supreme Court d. The Prime Minister
The four states which are situated near the Himalaya are :

a. Jammu and Kashmir, Himachal Pradesh, Uttarakhand, Arunachal Pradesh

b. Gujarat, Maharashtra, Haryana, Rajasthan

c. Gujarat, Chattisgarh, Bihar, Jharkhand

d. Bihar, West Bengal, Orissa, Uttar Pradesh

Which scheme was started in 1993 to create self-employment opportunities for educated
unemployed youth in rural areas and small towns?

a. Prime Minister Rozgar Yozana

b. National Rural Employment Guarantee Act

c. Rural Employment Generation Programme

d. Swarnajayanti Gram Swarozgar Yojana

Which is the longest river in the Peninsular Plateau?

a. River Narmada b. River Tapi c. River Krishna d. River Godavari
Who is known as the “Golden girl” of India?

a. Priyanka Chopra b. P T Usha c. Nirmala Devi d. Shakshi Malik
Which institution released a report titled India Ageing Report 2023°?

a. NITI Aayog b. NSO c. UNFPA d. World Bank
How many medals did India win at the Asian Games 2023?

a. 94 medals b. 107 medals c. 102 medals d. 112 medals
Which of the following is not an objective of the G20 summit?

a. Improving international trade relations b. Enhancing financial regulations

c. Promoting religious harmony d. Promoting global economic growth

How many astronauts are planned to be placed in the Crew Module during the Gaganyaan
mission?

a. Two b. Three c.F d. Five

In a row of plants, a plant is 16" from either end of the row. How many trees are there in the
row?

a. 32 b.30 c. 31 d.162
10, 100, 200, 310, ?
a. 400 b. 410 c. 420 d. 430

If the English alphabet is written in reverse order, then which letter is 7% to the left of 11* letter
from right?

a. W b. H c.R d.D
Complete the series: 2,12,30,56,90....
a. 110 b. 121 c.132 d. 143

Pointing to a photograph, a man said, “I have no brother, and that man’s father is my father’s
son.” Whose photograph was it?

a. His son b. His own c. His father d. His nephew
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If you are a fitness walker, you don’t need to go to a health gym. You also don
equipment for work out. All you need is a pair of comfortable athletic shoes.

This paragraph supports which of the following statements.

a. Fitness walking is better than weight lifting

b. Walking outdoors provides more health benefits than walking indoors.

c. Fitness walking is an effective and convenient form of exercise.

d. poorly designed shoes can cause foot injuries

Six books A,B,C,D.E and F are placed side by side. B,Cand E have ‘blue’ cover and other books

have ‘red’ colour. Only D and F are new books and rest are old. A,C and D are law reports and
the others are Gazetteers. Which book is a new law report with red colour.

a. A b. B c.C d.D
Eight executives - H, LJ,K,L,M,N&Pare sitting around a circular t
of J & second to the left of K. H is at immediate left of I. P is at immediate right of K. L is third to
the left of N. Which of the following pair of persons shows the nearest neighbour of M’?

a. K, I b. L, I CHE ST d.H, L

Read the following information carefully to answer the question tha
I. P + Q' means P is the father of Q. II. P - Q’ means P is the mother of Q.
IIl. ‘P x Q’ means P is the brother of Q. IV. P + Q’ means P is the sister of Q
Which of the following means ‘H’ is paternal grandfather of T?

SNEIEEOEL T b. TxJ+H CREEE IR dH-J+T
Starting with 0, a growing number sequence is generated by the rul
To get the next number: Substitute O with 01. Substitute 1 with 10.
Accordingly, the first four terms of the sequence are

0 >01——>0110 >01101001 What is the next number in the sequence?
a. 110000000000000 b.0110100110010110 c. 11010011001 d.11010010110

You are trying to decide what kind of car to buy.

Sports car, a two door Sedaan and a minivan in thr
category?

‘t need any fitness

able. M is third to the right

t follows:

€ given below.

You make a chart to compare a two seater,
ce categories. Which would not be a suitable

a. price b. gas mileage C. tyre pressure d. storage capacity

* * * * *

TIE BREAKER
Choose the correctly spelt word

a. connoisseur b. connaiseur C. conaisseur d. commossieur

and he occupies the middle position in the row. What was his origin
of the row?

asilise b. 10t Co 124 d. 16%
Who is the founder of Golden Temple?

a. Jagjeevan Ram b. Chaudha

Two chemical s
and Y.

ry Charan Singh c¢. Guru Arjun Dev d. Rabindranath Tagore
pecies X and Y combine together to form a product P which contains both X

XAV
X and Y cannot be broken down into simpler substances by sim
the following concerning the species X, Y and P are correct?
(i) Pis acompound.

(ii) X and Y are compounds.
(iii) X and Y are elements.
iv) P has a fixed composition.

ple chemical reactions. Which of

a. (i), (i) and (iii) b BVNE FIL AMAK[KHA(RA d. (i), (iii) and (iv)



55. In the context for school house points, green got twice as many as blue who were 25 points
below red. Red got 32 points more than yellow who came last with 54 points. Which house won?

a. Yellow b. Blue c. Red d. Green

* * * * *
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